[image: image1.png]7 Iynansia AeHAPUTOB

~
o Cuxantudeckue
BXOZIBE
Bepxyuieusisie Co—
JIEHAPHUTEI
CerMeHT
JIEHIPUTA
CuHanTuecKue
OKOHYaHMs

QOCHOBHEIE
{ zeHapuThi





[image: image2.png]Bxonmbie
CHTHANBI

:

e
CuHanTiyeckue
Beca

CymMarop

Pynxuus

aKTUBallHU

o() >

BoxomHoit
CHUrHan

Yk



   [image: image3.png]QUKCHPOBAHHBII
BXOJHOM CHTHAL X = +] ©

Bxonmt 9

Wy = b, (Tlopor)

-~
X
AKTUBalIMOHHAs
X QyHkums
v Brxopuoit
k o() p—> curHan
Vi

Cymmarop

CHHanNTH4eCKUE BECa
(BKITIOYAsT TIOPOT)




[image: image4.png]DYHKUUM aKTUBALMM HEADOHOB

HassaHve dopmyna O6nacTb 3HaYeHUi
TunHeitHas fis)=k s (~o0, )
MonynueiHas ks, s>0 (0, )
f(S) = {0 ! s<0 !
TNorncrnueckan o1
{curmomnaansan) f(s) =
1+7%
Mnep6onuyeckuit as _ -as =1,1)
TaHreHC (CUrMou- fis)=2-—¢ _
AanbHas) ¥ +e™™
SKcnoHeHuvwansHas fis)y=e> (0, =)
CunyconpansHtas f(s) = sin(s) 11
CurmonaansHas s -1
(paunonansHan) f(s) =
a+ Isl
Warosas 1 s<-1
(nuHeitHan ¢ HachI- T 1.1
weHvrem) f(s)=<s, -1<s<\1,
1 s=21
Moporoeas 0 s<0 0,1
fs) ={1) s>0’
MogynbHas «s) =‘sl (0, )
3HakoBas 1 s>0 =1,1)
(curHaTypHas) f(s) = { ’ !
-1, §<0
KeaapaTuuHas fis) = s (0, )





